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GENERAL STUDIES

Paper 2

Time -3 Hours | [ Maximum Marks : 300

INSTRUCTIONS

Fach question rs printed both in English and in Kannada.

Answers must be written in the medium specified (English or
Kannadeal) in the Admission Ticket isstuod to you, which must
be stated clearly on the cover of the answer book in the space
provided  for this purpose. No eredit will be green for ile
ansiwers written in a medium other than that specified in the

Aclinission Tieket,

Candidates should attempt questions from all Parts.

The number of marks carried by cach question is indicated

wWith the question.

The length of the answers should not, as far as possible, exceed

the specification given for the question.
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PART A

Answer any one of the following questions. Restrict your answer to

200 — 250 words cach :

(a)

(b)

Discuss the causes of the growing importance of regional parties in
Indian politics.

Ts there a justification for a bicameral legislature, when most of the
state legislatures in India are unicameral 7 Substantiate your
answer taking Karnataka as a case In point.

Answer any three of the following questions. Restrict your answers

to 100 - 125 words each :

{a)

{h)

(c)

{d)

{e)

Highlight the major inadequacies in the anti-defection law after the
amendment of 2003.

Examince the impact of dominant castes shaping mainstream politics
in India.

Are voting studics useful in the political sensitization of the
clectorate in India ?

What are the legal devices available in India for the protection of
the frcedom of Press 7

How useful is reservation for SCs and STs in legislatures 1n
representing their special grievances and interests 7 Comment.

Answer any four guestions. Restrict your answers to 50 — 55 words cach :

(&)

(b)

(¢}

5x4=20

Give a brief account of the composition and functions of the
National Commission for Religious and Linguistic Minoritics.

Outline the policy of the Government of India 1towards the
physically challenged.

Bring out the role of Kanshiram in Dalit awakening in India.

20x1=20

10x3=30
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(d) Do smaller states perform better in India ? Answer, keeping
Chattisgarh or Goa in view.

(e) “The media in India sensationalizes issues. [t does not build public
opinion.” —- Comment.

(f)  Discuss the linguistic pluralism in Karnataka.

Write short notee on the following. Restrict your answers to 20 — 25 words

each, 10x2=20
(a) Kannada — a classical language

(by Tawang Controversy

{¢) Nanavati Commission

(dy  Oversight Commitice

(¢) Inter-State Council

(¥} National Highways Authority

(g} Nimrana Casc

(hy ‘Office of profit’ and Klected representatives
(i) Bharativa Kisan Union

(3 Rescarch and Analysis Wing (RAW)
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PART B

Answer one of the following two questions. Restrict your answer to
200 words : 20x1=20

(a) Explain the main objectives and structure of national economic
roforms in India since 1991. Show whether or not the components
of cconomic reforms are similar between the National and the State
levels.

(b} Describe the major objectives and principles of World Trade
Organization. Mention the main agreements of World Trade
Organization.

Answer three of the following five questions. Restrict your answers to

100 words each : 10x3=30

(a) List the major sources of revenue for the village panchayats in
Karnataka, What have been the significant reforms in this regard ?

(b) Analyse the process of decentralized planning in Karnataka State.

(¢} Who are targeted by the ‘targeted” Pubiic Distribution System ?

Explain your answer with reference to Karnataka State.

(d) Explain the indicators in the construction of the National Human

Development Index in India.

(¢} What does “PURA” mean ? Answer, with special reference to the
Suvarna Gramodaya initiative in Karnataka,
Answer any four of the following six questions in about 50 words cach :
Sxd=20
() Mention the major items of agricultural and non-agricultural

exports from Karnataka State.

(by Distinguish the important strategies for reduction in the revenuc

deficit of the Government of Karnataka.

(¢ FExplain the major source of indircet taxes of the Government of
India.
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(d) Highlight the major targets and objectives of Karnataka’s New
Industrial Policy 2006 — 2017.

(e) Explain the major justifications for establishing Special Economic
Zones (SEZ) in India.

(ff/,  What are the monitorable indicators for education and literacy in

India’s Tenth Five Year Plan ?

Write a brief note on cach of the following in about 20 words each @ 2xJ0=20
(a)  Karnataka Electricity Regulatory Commission

(bt Ccntral Statistical Organization

(¢)  National Sample Survey Organization

(dr  Kurnataka Udyog Mitra

(e)  Seccurities Exchange Board of India

(f1  Bilateral Exchange Rate

{g) Prime Lending Rate

{hy Priority Scetors in Banking

(i) Net National Product

(j»  Tele-density
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PART C
Answer any one question. Restrict your answer to 200 — 250 words.
20x1=20
ta) Discuss the salient features of Deccan Trap.
(b) Critically examine the Hydel power respurces of Karnataka.
Answer any one question. Restrict your answer to 100 — 150 words.
10x1=10

(a) Bring out the salient features of the Cauvery river system.

(by FElucidate the geographical factors responsible for variation 1n
population density in Karnataka.

Answer any fwo questions. Restrict your answers to 50 words cach, 5xZ=10

(a) Highlight the geographical factors responsible for Dairy development
in India.

(b) List the uses of Meteorological satellites.

(¢) Give an account of Manganese production in Karnataka.
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PART D

12. Answer any one of the following questions. Reslrict vour answer Lo
200 — 250 words :

13.

14.

(a)

th)

D0 =21

Clhimate change is becoming the single largest threat to the world.

How does this affect India ?

What is ‘Organic Farming’ ? How 1Is 1t expected to solve the

problems/ill-effects of modern agriculture ?

Write brief notes on any four of the following. Restrict your answers to
100 — 120 words cach.

Lat

Acid Rain

Ecologrical footprint

Municipal Solid Wastes (MSW) and Supreme Court guidelines
Jaipur foot

WINDOWS VISTA

Global Positioning Syslems

0% 1=1()

Write short notes on all of the following. Restriet your answers to 20 - 25
words cach.

(i)

ihi

th

{1

Tele-medicine
Mobile computing
Bt Cotton

MPA

MEMs
Biomethanalion
Amorphoug Silicon
LED

Salimization

Chikungunya

10»2=20
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